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Which one af the waves cannot pass through vacuum?

(A) Sound waves ;i.j;r-‘- 8)
(C) Television waves i+ loibnt (D)
The loudness of sound is mosl closely related 1o its

(A) Frequency U/ (B} Period i ()

The speed o light in arr is 3x10°ms ' and in glass 2x10°ms ",

The refractive index of glass is

(A} 0 67 (B) 100 (C)
An ophthalmologist claces a 2.00 D lens next to

0.35 D lens The power of combination is

(A) 035D (B) 165D (C)
Capacilance is defined as

(A) VIC (8) av (C)
What is voltage across @ 602 resistor,when 3A of
current pass through i?

[A) 2V (B) v {C)

What is tne power rating of a lamp connected loa 12 V
source when il carmes 2 5 & current?

(A) 4 8W (B) 155 W (C)
Lenz's Law is in accordance o the |aw of conservation of
(A) energy LA (B) mass _n (C}

Electron gun has an electrode which contro's the flow of electron? T t/Ul #7510 £y 200 1, 20 I

(A) Screen LLJ"" 1B)
(C) Anode 1! (D)
The output of a NAND gate is 0 when'

(A) A=1 and B=0 (B) A=0 and B=0 (c)
The brain cf any compuler is

(A) Controlunit =5 v (B) Monilor 5\ (c)

VWhat happens 1o the atomic number of an element, which
E;ecl a bela parlicie?
(A) increases by 1§ Lax 0
(C) cecreases by 2 Filn’y

(B)
(D)
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Thine: 1:45 Hours Mlarks: 45
section-1
Ix5=10

2~ Wrile short answers of any live pant from the foliowing.
| Defira the ranaveres waves and wiite ds oo exampa | Whal i meant by refiaclion of waves?

i Why [he gourd of wamen = shnil as compared le men? v Defnz wibratory molian :

v Whal i maam by SONART vi. Hlale e 'awe of re‘raction of lg=r

vii Dmfine ihe compgurd mecroscops
witi, Cakeulata the frequency of a saund wave (f soeed of sound wave i= 340 ms* and wavessngth = 0.5m

3- Write short answers of any five pari from the foliowling 2x5=10
| Slate Coulomb's (@w @nz wiise (s {ermuks I Wiz two us=s of capaciors
il What is AmmeterTHow 3 d conresied Inoa cireud? . Whal s ransformerTinite ity typea
v Whal s mean| oy mutuz! industan® v Dafine Relay Wrile 18 one use
wil VWhat 15 1he dii'erence beltwesn el=ctonic curn! @nd convenliosal curmen|
¥l Write the fomula 1o fing amoun? af enspy 0 Kiowat-hour?
4- Wrile shont answem of any Fiva part from the following. 2x5=10
| Define "WOR™ gate and draw its symbalc diagram i Defne tharmonic emission
il Definz Hatf-life W, WWhal are ihe s=condary sloregs cevices?
v Write difference betwesn stabla end unstable nuclai vl Winte down bwo advantages of slzetranic mail
wil What is d:Merence betws=n snalogus quaniies and analegur electroncs?
yiii How fisson reaclion s contraied in @ nuclaar reaclar?
Section -II - BazZ=10
Note: Answer any two questions from tha follawing,
5. {a) Explain he diferenl lypes of meckanics waves with examples 04

{b) A convex lens of facal lengih Bicm is lo be used fo lorm a vidua! image three times he size of the object 0%
Where must Ib2 kers be placed?

E. (a) Write down the factors on which resistance of a conducior depends upon o4
(b} A point charge of »2C |2 transferred fram a paint of patestial 100V o g Famnt at potential B0V VWhal would 05
ba tha enerpy supplied by the charga?

7. () Explain any two camponents of cathod rmy oscilleszops 04
{b] Half e of radicactive =lement is 10 minutes 1 the initial rais is 368 counts perminuig, find the bme by 05

which couni rate reaches 23 counts per minulo
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